EARAROBEEIERT — 2 N— IBISH —F

201658150 (H) 2E*ER8H

BE: s ru7=r0 G1 95%4mE (BB 4% (5% T8

‘ [R1%] & ‘ [RERBE] — | Z (A) 16000 B

[A~&£] 1 7 93,000,000 § ~ 23 :37,000,000  ~ 33 :23,000,000 ™ 4 7 :14,000,000 F 5 7 :9,300,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 # 7 | FlBEX 1:31.5 11-10  [33.4|113.4| 7 466 | R (RR)
11713 AT M= 55.0 (=) (+2) BEBFEHD (%)
R:7V%tx B:xU7r—EUAFR R
e - i 4 | EPR 1:31.9 13-12 [ 33.6109.0 | 1 432 | WIFEH (RR)
2|5[10|IvF—T1—> 55.0 (0 1/2) o |FEASE
LF=TALNT N B:3a—-YhuozAa J—HrTr—LA
B N 5 | tAsR— 1:31.9 13-14 | 33.5(109.0| 2 446 | 2ERM (RR)
317l15| ¥avFNL RS i 55.0 (NF) C10) | EAES
L:F4—=TA>N7 b Bi¥xa—F4d—IK (B) A1 -FRL—->a>@aEI7
o6 | KB 1:32.1 2-3 34.5|106.8 | 3 466 | RARER (RR)
41112 AX—bMLAT— 55.0 (1 1/4) 0 KINTE
R:F4—TALNT N BRI —REAI BEX &Y K
IS 4 | C. x—J 1:32.1 7-8 34.1/106.8 | 4 | 458 |ATIEME (i)
5 7 W=2anyy 55.0 (INF) o) (B) ¥+Ovy bT7—L
v Ny&>h7x BT v—INCF =Y Tr7—LA
5 | H Kuv> 1:32.1 7-4 34.3(106.8| 6 478 | RIIARE (EiH)
6 6| XYV IEAL 55.0 (NF) o | ® prF-L—v>y
LNnN=Y774 B:Z2ALT71ILTI J—H Ty —LA
; 4 6 | EALFEX 1:32.3 18-18 33.4104.6 | 15 484 | TREETE (E@)
70714 7X3/NE 5.0 (1"1/4) (g | B
LA TrAT7 BTRIAYEya TP —TL X Ty—L
2 LA 4 | M. FL-—0O 1:32.5 11-12 [ 34.2/102.4| 5 460 | SHIES (RR)
E=12 JA4A=2X) 29 55.0 (a 1/2) (+10) HHFE
R:vNyBhTr BTITFILY HET7—L
S LA o5 | EEES 1:32.7 15-15 | 34.1(100.2| 12 | 504 |XEHFE— (X#)
9|8|16| Y2~ FILAk >~ 55.0 (1 1/2) G | B TADAS
RN=YI54 BixAFv—HAK DS
RIS TON B4 | EHEEHR 1:32.9 9-10 34.8| 9.3 | 8 476 | BHEZ (BR)
EHH Ly 9a=F% 5.0 (1) (e | EETEHD ()
L:xLThHXNAN B:TILEY BRI
L 5 4 6 | JIIERHH 1:32.9 5-4 35.1 98.5 | 10 456 | KAREERS (FBH)
111|717 x=3 55.0 (7 E) (o) | @R A
RRFAT-E BIUETUF1— EvilLyRT7—L
S e 4t 6 | BEUSEMER 1:33.2 15-15 | 34.6 | 94.9 | 17 | 494 |BRE#hsE (=)
12@l g | *T>av~vR 55.0 @ (-a) | AU
R:ZZATLA BiACYaIEED B=rdie ]
ft 6 | ZHER 1:33.3 9-8 35.3| 94.4 | 13 | 464 |BREREEEE (ER)
13 4| 797Y 55.0 (7€) (-4 |EFRAK—LT T2 (#)
R:F4—TA4>N7 b Biys¥uq% J—HrTr—LA
ORI i 5 | AlFBIEA 1:33.5 1-2 36.0| 93.0 | 18 | 438 |ABEHNT (FR)
14 ) 5| Ly FUTz— [B] 55.0 (1 1/4) (6) | @) FRE-—2L-—2>
R:2FA4d—IV K B:FqVUH—FK HET77— L
;. . 1BKI— : - EET (FEil)
15/ 5|9 H7xTVIUT7 R % 6 5??0 1.(3:)'2 & 3.0 8.2 1 ‘23;1 ﬁ“l;ﬁ'—
RTFATLREA L B A4 I RN B4~ IS
S e f 4 | WHBER 1:34.3 17-15 | 35.6 | 84.5 | 11 484 | =/ BHF (EH)
16/ 8|18/ ¥avF>77 7 55.0 (1/2) (+16) | EREE
R:F4—TALNT N BiA— NI AR YT TR
e 4 4 | PEfEE 1:34.3 5-7 36.4| 85.5 | 16 | 446 |BEBEZ (RR)
17/817) h—E~ETRU= 5.0 (7€) Lo | Bl
XD THANAN B:bhoHFde 78— J—HrTr—LA
S 4 4 | HILHGA 1:34.8 3-4 37.0| 815 | 9 454 | AKER (RR)
EH 3| vi=Jb 55.0 (3) ) (B) *+vAy ~hT77—L4
R:E>/0704 B:JLA T —T7— (B) A1 —-FKL -3 BEI7
@ 21 L
£y 45.8-34.3
NaO>24 L | 12.3-10.4-11.1-11.9-11.5-11.4-11.3-11.6
® I—F—&EBIERL
13—7-
23—7F—
33—+ — 5,2(3,9) (1,17) (6,7) (4,11) (13,12) (10,15) (8,16)-18,14
Mal=5r= 9,5,2(1,6,3)17(4,7) (13,11) (10,12)15(8,16,18) 14
[ N5
B R 13 1,770M | | 71 K 10-13 1,310M | | # = 5-7 650/ | | 3:=t& | 10-13-15 6,090M
BB 13 410M 13-15 1,790H B E 10-13 3,510M 3EE | 13-10-15 48,310/
10 140 10-15 350M B H 13-10 9,790M
15 170

ABICOVWTRDTEEERROODE. TR LIV,




